Multiple-Choice

Grade 9 Assessment of Mathematics, Spring 2009

A box with a volume of 12x%? is
shown below.
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Hint: V' = lwh
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What is the width of the box?
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Alfredo and his wife, Jody, work in a
restaurant.

Last week Alfredo received an average of
$15 in tips for_each of the 55 tables he
served. Jody received an W $20 in
tips for each of the 60 tables she served.

They are planning a weekend trip. Alfredo
will pay a total of $220 for their hotel room
and Jody will pay a total of $160 for their
rental car. '

How much of their combined tips will be
left over after they have paid for their hotel
room and rental car?
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Grade 9 Assessment of Mathematics, Spring 2009 Open-Response

B Keepin’ Tabs
A student council collects aluminum pop tabs to raise money to purchase a wheelchair. A company

buys the pop tabs for $0.88 per kilogram.

If 1267 pop tabs have a mass of one pound, how many pop tabs are needed to purchase a wheelchair
worth $1500?

Show your work.
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The graph below represents the relationship @ Which of the following could be the slope
between earnings and time worked. of a line of best fit for the data shown in

the scatter plot below?
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i 2 Investigation, e stl}dent holds a Which of the following graphs would be
motion detector, points it at a wall and produced on the graphing calculator?

walks toward the wall. x
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Grade 9 Assessment of Mathematics, Spring 2009

El The table of values below displays
the cost of renting a bicycle.

Which equation models the cost of
renting a bicycle?
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Dogs Versus Cats
The Bryant Bulldogs basketball team takes the bus to play the Jordan High Thundercats.

Distance from School vs. Tlme
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Describe the three parts of the Bulldogs' bus trip, using the information on the graph.

Include information about distance, time, direction and speed in kilometres per minute for each
. e,
section of the graph. i
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SRLETE D I Coce et If the slope is doubled and the y-intercept
e e e remains constant, which graph below best
a x=-2 verhicd line represents the new line?
b y=3%-1 Y=mxtk )( 2
Y= 2+3 5
|

d 3x-2y-1=0 /\MB)%:O

‘-5-4-3-2-1g 1-2

For the slope of a line, the change in x -5
is greater than the change in y. Which : '
of the following could represent the
slope of this line?
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Multiple-Choice

Consider the following linear relations.
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Which line represents the graph of the

equation y = =2x + 5?
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The following table shows values for

a linear relation.
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the table of values?
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Open-Response Grade 9 Assessment of Mathematics, Spring 2009

. x=ay+g =0
A Tale of Two Lines 7’ s
Below are the equations of two lines.
LineA:x—2y +8=0 N\

Line B: 2x '+ y-+:1'=.0 -2 ]%
Compare the two lines by considering their slopes.

Justify your answer.

\ N Hint:
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Triangle KLM is shown below. Two different stores sell coffee in
cylindrical packages. The prices and
dimensions of the packages from the two L\

stores are shown below. \/ T-\
=1kF
$39.95 ’ l

M 7.3 cm L

=78

4.2 cm

a*y 1844 = 5324 2445
$15.95 DU _—
o? = 343 K 125
4=4{#J Which of the following is closest to the =4.05
. 5 perimeter of triangle KLM? Voo [Bem IS
bk G 169.56
b 163 cm =0.04
¢ /17.5¢cm Which is closest to the difference between
& 910 e the unit prices of these two packages? =
@ $0.04/cm’ Vs 3145)( 0)
3 . e
A soccer goalie is standing in a goal s 50.02/cm o 78 o O
opening. From this position, she can guard ¢ $0.09/cm? ek 2
the area represented by the semicircle d $024/cm’ \/9 =3 /4(3) (é) 2
below. : = 169.296 cm

Consider the following diagram.

f—2.4 M —= e

-6

How much of the goal opening is she not.

guarding? =

a 06m? AS}MQJ = What is the value of x? g+ |n144 104190 <360

@ i = Aﬂfd‘ 3 A%MI‘—C{VCIe a 14 r "6
o b 28° - X=bM

-
o
)
3

11




Multiple-Choice
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Consider the diagfam below.

7\
What is the value of x? }
a 80° 871 I;
b 120° ()mﬂem
O
d71'702
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Twinkle Twinkle

Nicole notices the star design shown below on the pavement outside a movie theatre.

Determine the sum of the angle measures in the corners of thisstar:a + b + ¢ + d + e.

Justify your answer using geometric properties.
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